Efficiency vs dr

0.5
0.45

0.35]

efficiency vs AR
=}
D

©
w

g
= O ¢
g N

D s . s malbil IALAALE LN LR |

2 —— mKFIt_[ Toriginal

@ —e— DQM_mKFit_TT_pL

o —— DOM_mKFit_TT pLW
—i— DOM_mkFit_TT_pLW_IMP

0.95 : : _.
107° 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |
§ 0.2
0’ 0.18F
= E
o
z 0.16F
20.14F
> o
20.12F
0.1F
0.08F
0.06F
0.04F
0.02F

Vs

efticie

Ratio
N

0.95 . S . SR
107 1072 107t
AR(TP, jet)

Efficiency vs pu
0.8

o] n

o E : : : : : :

EO 0l { = ERE SRR ROTRPE SRR Bereendeesans GRRRED oo

> o ] : : : : :

Q r : ] : : : : :

G 0.6 e T EPEEPIEPPRD Beeens

3] Eoo ] : : : : :

L
7 508 T NP TS N S T
F S T o o

SRR | Bt |
0.2 : «}Jf *4; ++ E:
o | ._f*‘_‘?f_ff.if...ﬂ_ff:

Ratio

093630 40 50 60 70 80 90 100
Pileup



	Contents
	Page 1


